


(A) 

(B) 

(C) 

(D)  All of these

(E)  None of these

(A) 

(B)  Respiratory system

(C)  Nervous system 

(D)  Excretory system

(E)  None of these

(A)  Barometre (B)  Thermometre
(C)  Sundial  (D)  Scale
(E)  None of these

(A)  Ten (B)  Seven

(C)  Eight (D)  All of these

(E)  None of these

5. 
following.

(A)   (B)   

(C)   (D)  

(E)  None of these
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

(A)  

(B)  

(C)   

(D)  All of these 

(E)  None of these

(A)  0 (B)  1
(C)  2 (D)  3
(E)  None of these

(A)  36 days 
(B)  72 days
(C)  154 days 
(D)  188 days
(E)  None of these

9. 
on food and one seventh on clothing. What is 

savings is  6000?

(A)   22094 (B)   28450 
(C)   23333 (D)   21093
(E)  None of these

th and 8th were 

:
(A)  Blue (B)  Green
(C)  Red (D)  Yellow
(E)  None of these

(A)  LlL, FfF (B)  AaA, FfF
(C)  NnN, EeE (D)  EeE, FfF
(E)  None of these

 

(A)   (B)  

(C)   (D)  
(E)  None of these

Answers
1. (C) 2. (B) 3. (C) 4. (B) 5. (C) 6. (C)

7. (B) 8. (C) 9. (C) 10. (A) 11. (D) 12. (C)


